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CPG=RIN
H: HEWESG(LersBF /AL - HAEXR)
ol BN WZey (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
UFag=g=gr s 211,038,505 227,992,026 A 16,953,521
AXME2G (Lot A /XL - HEXE) 146,552,147 145,838, 147 714,000
SENY ME2Y 146,552,147 145,838, 147 714,000
238 ME2dY 1,310,000 1,230,000 80,000
101 @124l 10,000 10,000 0
04 D12t 22 HEE = 10,000 10,000 0
oJas=2dg 10,000

201 LBr2EH| 730,000 620,000 110,000

01 At 2t 2l 460,000 400,000 60,000
oJlxz=24 460,000

03 & Ar2 Z I 270,000 220,000 50,000
oJas=s2Y 270,000

202 Odl 320,000 350,000 /30,000

01 =2 LHA YI 150,000 200,000 A50,000
oJazE2dg 150,000

03 =AW 170,000 150,000 20,000
oJas=2Y 170,000

301 LAz 50,000 50,000 0

09 SAEHIE &S 50,000 50,000 0
oJaZE2Y 50,000

405 RHoHF S HI 200,000 200,000 0

01 AL EZFH S 200,000 200,000 0
oJlxz=24 200,000

OadusHE 29 30,000 30,000 0
303 Z& 3 30,000 30,000 0
01 243 30,000 30,000 0

(O FaFnig= 30,000

WHAS HYXFX 159,147 159, 147 0
201 Let249] 40,000 40,000 0
01 At 22l 40,000 40,000 0

OO0l st 2t AU 2H(12F) 40,000
202 Oddl 69,147 69,147 0
01 = LH 4 1l 69,147 69,147 0
OSLRNIAANY &S2=2 56,000
0371y gR=a 13,147
203 YR =&l 50,000 50,000 0
03 AIMF=XH R =AH| 50,000 50,000 0
OSLXNIAANY &S2=2 20,000
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PN
FH: AMdWNESG (LSS HI /NS - HEX )
tel: S8 MERY (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OXNYAEME 2 15,000
OZLEHYSR =2 15,000
NETHE 22 AAE 2 28,000 28,000 0
403 XXM S X201 28,000 28,000 0
02 212 S Ofl CH 8 CH & AL 2 ] 28,000 28,000 0
OXNYMHE2CIAAH 29 28,000
AN MEEA 144,900,000 144,261,000 639,000
308 XXM S0 A 144,900,000 144,261,000 639,000
04 HBEHEZ 144,900,000 144,261,000 639,000
oL HEENS 130,410,000
OANMFABHEZ 14,490,000
Ng3I1ey Z2SEt 125,000 130,000 25,000
207 Ao 2| 125,000 130,000 A 5,000
NEEEETT 125,000 130,000 A5,000
OXNLSINY ZLHI} 8Y =2 125,000
olglol (olliBlBl/alBlbl) 40,310,652 47,659,346 AT,348,694
ol Bl bl 40,310,652 47,659,346 AT,348,694
[ {M=1Rs]! 40,310,652 47,659,346 AT,348,694
801 Gl HI bl 40,310,652 47,659, 346 AT,348,694
01 olldldl 40,310,652 47,659,346 AT,348,694
© ol bl 40,310,652
HE2HZH (0l At 2tA) (D1EHDIIEL) 51,200 47,000 4,200
Jl234l 51,200 47,000 4,200
2EM2g JI2Z 4l 51,200 47,000 4,200
201 LB-2d| 35,000 35,000 0
01 At 22l 35,000 35,000 0
OFRN2Y AR 22l 35,000
202 oddl 12,000 12,000 0
01 = LH o4 1l 12,000 12,000 0
FNE2E =ZUWHHH 12,000
203 YR F&H| 4,200 0 4,200
04 EANSIHRF=EHI 4,200 0 4,200
©302! Olat 350,000& =128 4,200
NS (UML) SSEHMLHM /TS - o 24,124,506 34,447,533 A 10,323,027
20)
HEAHHK= 15,419,831 10,813,024 4,606,807
ANges I oS3 MEXR 15,419,831 10,813,024 4,606,807
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RE=1=RIPN
WSS (MM YA (STEA L/ T e

LHEHHXI=

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
705 Q=232 2 4AE 15,419,831 10,813,024 4,606,807
O10l==]34s 3,343,334 10,424,170 A7,080,836

oOs&Jl=z =2 3,343,334
02 Ol === 0| K&t &t 74,497 388,854 N 314,357
OSEJI2 =2 74,497
03 Al - EXYHED S22 4= 9,050,000 0 9,050,000
©'03 =R (XNFM) 2,550,000
©'06 *=al=2R (XN 6,500,000
04 Al - S XYL S0 £=20| XFatst 2,952,000 0 2,952,000
©'03 =R (XNIH) 612,000
©'06 =R (XS 2,340,000
BHdX= 8,704,675 23,634,509 214,929,834

Mol=+7 AKX 5,002,537 17,491,883 N 12,489,346
311 X 20| XH&f &t 702,537 827,883 N 125,346
05 JIEt Xt = Of Xt 4 &t 702,537 827,883 N 125,346

©'03 =H=2R(MHEXS) 214,751
0'04 =R (B3X3) 487,786
601 Xt S A3 A& 4,300,000 4,300,000 0
S JIEI=UXE =22 4E 4,300,000 4,300,000 0
©'03 *=H=ER(MHEXS) 2,300,000
O'04 =H=ER(B2X2) 2,000,000

Ma=2Zg & 2DAY XSHEEH 3,702,138 6,142,626 N 2,440,488
311 L2 O0I XA 8 3,702,138 6,142,626 A2,440,488
02 S22 XY =0] XHAHE 3,702,138 0 3,702,138

QUREMN2AH=E BH 3,089,973
©O'09 2NEXAIY THEY=E 612,165




